| Probability of Opposite and Overlapping Events Name:

) You flip a coin. What is P(tails or heads)? Write
your answer as a percentage.

85 120

100 70 Show your work

%]

You spin the spinner once. What is P(even or less than 4)? Simplify
your answer and write it as a fraction or whole number.

P(even or less than 4)=

Show your work

@

You spin the spinner once. What is P(not greater than 1)? Simplify
your answer and write it as a fraction or whole number.

P(not greater than 1)=

Show your work
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| Probability of Opposite and Overlapping Events Name:
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You spin the spinner once. What is P(even or less than 4)? Simplify
your answer and write it as a fraction or whole number.

T
o

W]
o |w

oo
Hlw

Show your work
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You spin the spinner once. What is P(1 or less than 5)? Simplify your
answer and write it as a fraction or whole number.
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Show your work
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You roll a 6-sided die. What is P(2 or greater than 6)? Simplify your
answer and write it as a fraction or whole number.

P(2 or greater than 6)=]

Show your work
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| Probability of Opposite and Overlapping Events

Name:

) You flip a coin. What is P(heads or tails)? Write
your answer as a percentage.

124 113

105 100

Show your work

) You flip a coin. What is P(not heads)? Write
your answer as a percentage.

51 65

50 55

Show your work

|£J

You roll a 6-sided die. What is P(even or greater than 6)? Simplify
your answer and write it as a fraction or whole number.

P(even or greater than 6):|

Show your work
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| Probability of Opposite and Overlapping Events

Name:

#10

You flip a coin. What is P(not heads)? Write
your answer as a percentage.

36 50

56 40

Show your work

You roll a 6-sided die. What is P(2 or less than 5)? Simplify
your answer and write it as a fraction or whole number.

P(2 or less than 5)=

Show your work

You spin the spinner once. What is P(2 or even)? Simplify
your answer and write it as a fraction or whole number.

P(2 or even)=

Show your work
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| Probability of Opposite and Overlapping Events Answer Key
Question Answer
#1 100
#2 1
#3 1/4
#4 5/6
#5 4/5
#6 1/6
#7 100
#8 50
#9 12
#10 50
#11 2/3
#12 12
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